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Unit 8: Qua!ratlc Functions

Algebra Notes
Characteristics of Quadratics
Characteristic Define: Think: Write:
Domain Al possible values of}_ How far left to right does the grqph go? Smallest x < x < Biggest x
e == *use < if the circles are open*
Range Al possible vaiues of y How far down to how far up does the graph go? y < highest y value (opens down)
- - y = lowest y value (opens up)
Y-intercent Point where the graph crosses the | At what coordinate peint does the graph cross the y- (0.b)
y-axis < X=0 axis?
X-Intercept Point where the graph crosses the | At what coordinate Eoint does the graph cross the x- (a.0)
x-Qxis ﬁi‘_’_‘__y =0 axis?
lero Where g\e function (y:value) At what x-value does the graph cross the x-axis2 X=___
equals
Vertex Highest or lowest point or peak of | What is my highest or lowest point on my graph?2 Name the point (h, k)
a parabola
Axis of Symmetry | The vertical line that divides the What imaginary, vertical line would make the x=h
parabola into miror images and parabola symmetrical? (x value of the vertex)
runs through the vertex
Maximum Highest point or peak of a What is my highest point on my graph? y=k
function. (y-value of the vertex)
Minimum Lowest point or valley of a What is the lowest point on my graph? y=k
function. (y-value of the vertex)
Extrema The Maximum or Minimum of a Does the graph have a maximum or minimum? Max or Min2
function. I s
End Behavior Behavior of the ends of the As x goes to the left (negative infinity), what direction As X = -oo, f(x) >
function (what happens to the y- does the left arrow go?
values or f(x)) as x approaches
positive or negative infinity. The
arrows indicate the function goes | As x goes to the right (positive infinity), what direction Asx D oo, f(x) > ___
on forever so we want to know does the right arrow go? Y
where those ends go.
Intervals of The part of the graph that is rising From left to right, is my graph going up? An inequadlity using the x-value of
Increase as you read left to right. T —— the vertex
Intervais of The part of the graph that is falling | From left to right, is my graph going down? An inequality using thexaxglue of
Decrease as you read from left to right. B—— the v@(
Positive The part of the function that is Which part of the function is in the positive region Inequality using the zeros value (x)
above the x-axis. and where?
Negative The part of the function that is Which part of the function is in the negative region | Inequality using the zero valtues (x)

below the x-axis.

and where?
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Unit 8: Quadratic Functions Notes |

Graph |

pomain: Al real #§
Range: \{2 -4
Y-Intercept: U)/ iz 3) R
Zeroes: ) © " _xfj i
Vertex: _ _(,l,, = ﬂ)__

Axis of Sym. ! .4 \

Max/Min Value: 5‘ Fegn A

Extrema: ‘\MN .

End Behavior: Asx 2> -=, f(x) > (0 . Asx=> =, f(x) > (ﬂ

Int of Inc: X> | Intof Dec: X < l

<X

N

Positive: Negative:

Domain: (Z“ [Z‘ﬁl #'J

5 Range: Y 2 4'

QY-Iniercepf: { DJ 3)
Zerces: Y=~ 3 X =|
Vertex: ('l} 4)
Axisofsym. X = — |
Max/Min Value: g % ﬂ
Extrema: _ M A Y.
End Behavior: Asx > =, f(x) > =0 . Asx> =, f(x) >~ 4

Intofinc: X_ 4~ | Int of Dec: X 2 —!

Positive: - Negative:




Algebra 1 Unit 8: Quadratic Functions Notes
| Graph 3
Y ol 4
. 4 3} ? -4 -,_r ,é,,;“,x__l- t
i 93 U
T ?' | i
1 3 4 5

Domain: all_real *! Domain: [l real FLS
Rongo:nyw_-): - 4 Range: )/ A o
Y-Intercept: f Q, Ql Y-Intercept: LOJ. 1.15)
Leroes: ¥= -4 X=90 Zerces: = ~| X=J5
\ Verdex: [~ 2 s A) vertex: _ (_ 2, %)
i Axis of Sym. X= -2 Axis of Sym.__ Y= 1
| Max/Min Valve: _ MIN o) 7 = -4 Max/Min Value:_MA_X_@, v = 2
‘ Extrema: M| N Extrema: M A X
{ End Behavior: Asx> =, f(x) > (30 . Asx> =, fx) > 04 End Behavior: Asx > -« f(x}) > =0d . Asx> =, f(x) >~04_
‘ lm‘oilnc:_x P 2 IntofDec: X < — 7 Int of Inc: X ~ 7_ Int of Dec: X 2 L
Positive: Negative: Positive: Negative:




